Question #1: Chapters 13 and 14 (Aggregate Supply and Stabilization Policies)

Suppose that an economy can be described as follows (Total 30 marks):

(u = ut-ut-1 = -0.5(%(Yt– 4)
(Okun’s Law)

(t = (te-0.5(ut-un) +(t
(Phillip’s Curve)

(te = (t-1


(Adaptive Expectations)

Yt= 350rt-7000+2(Mt/Pt)
(LM equation)

Yt=7000-350rt


(IS equation)

(i) What is adaptive expectation? Describe the benefits and limitations of assuming that economic agents form adaptive expectations when the authorities try to forecast the effects of economic policies (2 marks).

Ans: Adaptive expectation means that people for their expectations of what would happen in the future based on what have happened in the past. People do not revise their outlook even when new information is discovered. The benefit of making this assumption is that the modeling would be simple, but cost is that it is not very realistic.

(ii) (Hint: Do not cancel out the Y’s.) Use the IS and LM equations to find the Aggregate Demand (AD) equation and show that the AD equation can be expressed as

%(Yt= %(Mt-(t


(3 marks)

Ans: Use the IS equation to solve for r, then sub this r into the LM equation to get Yt=Mt/Pt, which can be rewritten in percentage change form as %(Y= %(M-(. This equation is also called the quantity theory of money, with velocity a constant. Derived in lecture notes.

(iii) Before and during time t: Let ut = ut-1 = un = 7%, (t = (t-1=0, (t=(t-1=3%. Find the changes in %(Yt and %(Mt required for every time period such that these values were maintained (2 marks).

Ans: Want (u=0, so the corresponding %(Yt=4 from Okun’s Law. From the quantity theory, %(Mt=7.

(iv) Now suppose in the beginning of time t+1, it is known that (t+1 = 5. Suppose the central bank wants to keep ut+1=un. Find the values for %(Mt+1, (t+1 and %(Yt+1. What are the costs and benefits of this policy? Graph the Phillip’s curves (5 marks).

Ans: From Okun’s Law, %(Yt+1=4. From quantity theory, %(Mt+1=12, and (t+1=8. Cost: Higher inflation rate. Benefit: keep u steady.
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(v) In the beginning of time t+1: Suppose the central bank wants to keep (t+1=(t instead. Find the values for %(Mt+1, ut+1 and %(Yt+1. What are the costs and benefits of this policy? Graph the Phillip’s curves (5 marks).

Ans: From Phillip’s curve, ut+1=17, from Okun %(Y=-16, from quantity %(M=-13. Costs: high unemployment. Benefit: constant prices.
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(vi) In the beginning of time t+1: Assume that the central bank has chosen to adopt a fixed monetarist money supply rule instead. This rule keeps the %(Mt+1 growth rate constant at the same % you have found in (iii) for every time period thereafter. Find the values for (t+1, %(Yt+1 and ut+1. What are the costs and benefits of this policy? Graph the Phillip’s curves (9 marks). 

Ans: From Phillip’s curve, get (t+1=11.5-0.5ut+1, then use Okun to get ut+1=5.5+0.5(t+1, sub this into (t+1 to get 7. From here, use Okun to find ut+1=9, and Quantity theory to get %(Yt+1=0!!! Note: It takes %(Yt+1=4 to keep (u=0, so in this case, (u>0.
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(vii) As shown above, the central bank can stabilize one of three variables, namely, the unemployment rate, the inflation rate, and the money growth rate. In your opinion, which policy should the central bank adopt? Explain briefly (4 marks).

Answer: Which policy is the best depends on what is the goal of the central bank. If it chooses to target inflation as in part (v), the economic costs could be very high since the rise in unemployment is significant. But then if the central bank wants to keep unemployment steady as in part (iv), the cost is high inflation, which would have a negative impact on fixed income earners, such as seniors. High inflation would also adversely affect the competitiveness of this country’s exports. The last alternative is for the central bank to do nothing and keep money supply constant as in part (iii). In this case, both unemployment and inflation rates are higher. This might seem like the worst of the three evils, but keep in mind that the economy is not in equilibrium with this policy (only the SRAS curve shifts), and it would take a long time for economic agents to revise their expected P level and shift the SRAS curve back to its initial position. We can also show that inflation targeting in (v) is not a long run equilibrium either.

